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lineare Gleichungen

LGS: Losungsmengen
LGS l6sen

Bestimmen Sie die Losungsmengen zu den folgenden LGS: x€RR

: = 4x+1 . —5x = —y+3 1 .1
A) 9 y c) 9 y : - L4
)t 2 = ax—2y Y ht 2 = 10x-2y B) 97V 3%
. _ A - h: 2x = 6y-3
: = —=—x+1 D g- - - X—4y
B) i 4" ) h: 1 = —x+2y g.-y = X
h: y = %x+4 F) h: y = %x—l
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: = 4x+1 . —5x = —y+3 1 1
Ay 90 Y cy 9 y ; - 1.1
) h 2 = sx—2y Y ht T2 = 10x-2y B) 9V 3%
_ 4 - h: 2x = 6y-3
= ——x+1 D) 9- 7% T eXxT8Y
B)g Y 4" )h: 1 = —x+2y gy =X
5 F) 3
h = Zx+4 h . = =x-1
y 2 X y 5 X
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